DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
1INPCBI3 | NEET PRACTICE QUESTIONS | _ “°% %
(2023-24) (TEST-13) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. A copper rod of 88 c¢cm and an aluminium
rod of unknown length have their increase in
length independent of increase in temperature.
The length of aluminium rod is

[0, =1.7x 105 K o, =2.2x 10 K]
A) 68 cm

B) 6.8 cm

C)113.9 cm

D) 88cm

88 Q&F.LS Hemupeter HTLOlT&SH6e00r(H LDMHMILD
BergHer WHLIL Osflwng osudlefluig
seoor(h @eummlest Her allifle) QeuLiLiBlemev
AF&FlemU  FIIHSS V6V  ereoflev
2| 69110601 LI 5 & 600T L9.60T [HETLOTETS!

[0, =1.7 x 107° K-! o, 2.2 X 105 K]
A) 68 cm
B) 6.8 cm
C)113.9cm
D) 88cm

2. The quantities of heat required to raise the
temperature of two solid copper, spheres of
radii r, and r, (r, = 1.5 r,) through 1K are in
the ratio

NG/ B) ¥
OB D) %

r, DOMID 1, (r, = 1.5r,) QBT C&TeooTL @) (H
sy Gamermgertler QeuliLiplensvenud 1k
SlemallMG& 2 Wiss CoHameuulmer Gl
|66 S6ifl 6T eSS L0 MeoTS

~) 2% B) ¥
o ¥ D) %

3. A piece of ice falls from a height h so
that it melts completely. Only one quarter
of the heat produced is absorbed by the
ice and all energy of ice gets converted
into heat during its fall. The value of h is
[latent heat of ice is = 3.4 x 10° J/kg, g = 10

(Nkg)]

A) 544 km B) 68 km

C) 34 km D) 136 km

h 2wrs@®eeha S ealwd e
Leofl& 8L 196 Sl1600T(H) (WDWAISILDTS
2 (FRNOIPMSE. 2 [HeUTET G euLILIS S 60T
STOLUGS  uUeflssllqumse 2 mlehaLll
UGRmE. Ualléslly ECp allwpbCuns
FHOT MMV (PUEUGID  QeULILLDTS
LrHMULGSRMSI. 6T6vfl6 h-60T DG ILIMTeoTS!
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[ueflasl1quiledt 2 6TEBemM  QeullLLd
=3.4 x 105 J/kg, g=10 (N/kg)]

A) 544 km B) 68 km

C) 34 km D) 136 km

4. Tow rods A and B of different materials are
welded together as shown in figure. Their
thermal Conductivities are K, and K, The
thermal conductivity of the composite rod
will be

ENRNNNISRNNg
Al

A) 3(K1+K2)/
2
K+ K,
C) 2(Ki+K,)
D) K, + K,
Qeu6euGeuml QUTBLSHETMTEY — p6e0T A
LMmMIth B ereotm @ uevor(h)  &evor(h&6T

LULSH6L &STLIQUeTemalmm  LMHmeenels Sl
@) 6060078 85 L1 LIL_ (D 6iT6rTenT 36U mnl 6ot
QaulILG&HLGSI )M 60T G 6IT WenmMEGLL
K, lmouib K, eresflev @ emesorliL GQuUmHM
Tl (NSH600TIQ60T QeULlILISGHL GG S meot|eor
LS LILITeTS

AN\
NN\

A) 3 (K, +K%

K+ K,
2

C) 2(K.+K)

B)

D) K, + K,

5. A black body is at 727°C. It emits energy at a

rate which is proportional to
A) (1000)* B) (1000)>

C) (727) D) (727)*

@@H &HHLD QUITHET 727°C QeuliLplemsuuilev
2 6TeMgl. IHT MMV Qeueflall(h efsld
ereuld  eTDGHINDEG CHISHHal60
SlemLouU]Lh ?

A) (1000)* B) (1000)?

C) (727 D) (727)*

6. A black body has maximum Wavelength Am at
2000 K. Its corresponding Wavelength at 3000
K will be

A) %Am B) %Xm

D) ?—é/lm

@ SHLAUTIH6T 2000K QeuliLplemnsuuiley
IGH60T QLIEHLD em6uHemd Am Q& mevorL
&HFeIFamTF QeuerflaflL_Lmev 3000K
QeuliLBlemsuuilev 3|55 HLD QUITH6IT
Qeaueflal G &5 FaTsF 6t 3jemov HerLnmeTs!

A) 5m B) 2 im
) & am D) 8L am

7. The two ends of a rod of length L and a
uniform Cross Sectional area A are kept at two
temperatures T: and T2 (T: > T2) The rate of
heat transfer dQ/dt through the rod ina Steady
State is given by

dQ K(T,—T)
A) g IA
B) % — gra(r—1)

dQ KL(T,—T)
D) = A

Frmeor MGG el (h UFLL A LMOID
L Berid Qaomevor Heoor(h). epedTledT @) (H
(LPEDIGOTE 6T T, LOMMILD T, (T, > T,) 6T60T M @) (H B 6u Q)
QeauliLmlemeuuilev 6M6UGH G LILIL (h 6IT6T6oT.
Blemeuwlmeor Blemevuley gevoriqedr UG
QauliL LflinmmmLd 9emLWLh efgLh dQ/dt-6oT
NS LILIMTeoTS
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dQ K(T—T)
A = 14
B)%=KLA(T1—TQ)

dQ KA(T,—T)
Oaw~ 1L

dQ KL(T,—T)
D)@ = A

8. Coeflicient of linear expansion of brass and
Steel rods are a, and a,. The lengths of brass
and Steel rods are 1, and 1, respectively If (I,
—1,) will remain the same at all temperature if

A)ol’l =0l
B)al =al,
COoal,=al,

D)o l’=a]l?

Nssemer oo ereHer  Hemallfley
(& 600T & MBI & 6T e mGul a, LOMMILD
o, <G GCuabd Ugsemer WLMHMILD

TGS SHe00T(H &6rfletr [HemmIgGeT wWemmEW |,
OO |, GLD. |, (1, -1,) er CeumimLLemey
IMETHS QaIlILl Blemev&HEhahGLD  GH

LTS Flwms BlemeuBlMIGSLILIGSR DS
eT6vfl6v L) 63T 60 (15 61 60T 6L (D) )1 6T a)P:3
QUITHSSHLOMET QIGTLITL

A) ol =0zl
B)al =al
Coal,=al
D)o l’?=al?

9. A Sphere of radius 10 cm is hung inside an
oven whose walls are at temperature of 1000
K. The total heat energy incident per Second
on the sphere (given 6 = 5.67 x 1078 SI units)

A) 5923]8"!
B) 1280JS"!
C) 7128 IS

D) 2480 JS"!

Fr6UJ & 6T I|6M6TSHGILD 1000 K
QauliLmlemevuiey 2 6T @GemeT 66Ty
10cm &L, 1D G185 M600T L G & ITEITLD 62 60TMI Q) &5 TS
LUl QeTengl. GamengHer 5 epeme
&HMeVEH L LI Qeull 9mmedler QLTSS
WG LILMeTS! (6 = 5.67 x 1078 SI 9{6V(&&6IT)

A) 5923]S"!
B) 1280JS™!
C) 7128 JS™!
D) 2480 JS!

10. Astone slabofarea0.36m?and thickness 0.1m
is exposed on the lower Surface to steam at
100°C. A block of ice at 0°C rest on the upper
Surface of the slab. In one hour 4.8kg of ice
is melted. The thermal conductivity of slab is

A) 1.24 J/m/s/°C
B) 1.29 J/m/s/°C
C) 2.05 J/m/s/"C

D) 1.02 J/m/s/°C

0.36m? LU 0.1 m SQIOID Q& TeooTL
GeoLImeTid  epeorledl  OIQLILIGSH  100°C
QeauliLplemeuullev o _eiTerT Brmelemnul
LUMTISSITM  emeausHSLILLReTers.  0°C
Qaul1Lplemevuilev o 6iTer Leofl& s 1q
QTGS @M &6 UTaTsHHer  GLo6y
UGS LILIL (B eTemdl. 6(h 6ol CHshHev
48 kg Uell&sLly 2 BSHMS 6r6eofley
&6V UMaTEHer Qeallll SHLHEH  Hmeor
NS LILITeoTS

A) 1.24 J/m/s/°C
B) 1.29 J/m/s/°C
C) 2.05 J/m/s/°C
D) 1.02 J/m/s/°C

11. 100 grams of ice at 0°C is placed in 200g of
water at 25°C. The amount of ice that will
melt as the temperature of water reaches 0°C
is close to

[The specific heat of water = 4200 Jkg 'K™!
and the latent heat of ice = 3.4 x 10°Jkg™']
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A)61.7¢g B) 63.8¢

C) 69.3¢ D) 64.6g
0°C-60 2.6Tem  100g UeofléssLlly  25°C
Qauliumlemevuley 2 eTem 200  Hiflev

meusSLILIL(MeTengl. Bifledr QeuliLiplemev
0°C & SGBHRO aGBLCUTEH 2 (HEGL
Lieof1 &8 L 19U 60T 2 6rTeumeoTa

BedT HeoT@EULILI MG FHM6dT = 4200) Kg- 'k
Lefl&BLIQuiledT 2 (H &S eT 2 6TEHemm
QeuluLD = 3 x 4 10°JKg™]

A)61.7g B) 63.8¢

C) 69.3¢ D) 64.6g

12. Assertion: When a rod lying freely is heated
no thermal stress is developed in it

Reason : On beating the length of the rod
increases.

A) Both assertion and reason are correct But
Reason is correct explanation of assertion

B) Both assertion and reason are Correct
But reason is not correct explanation for
assertion

C) Assertion true Reason false

D) Assertion false Reason true

Famm : SeoLwWlern Qsmmes e il
sHeoor(h &eoTenM GeullLLILGSSID CUME
56V QalllL WSS LD 2 (HEUTSH TS

&Myeoorld :  QeululiupGssid  GUTs

S600TIq.60T HeTld B\ & &S mal
A) Famml OMMID &TFeoord  Fiflwmerg
SMyeooTld Famolmssmeor  SFiflulmeor
alleng a0

B) MMl LOMMID &MTFeorld @ evor(hLd

Frflwmersl. O60TITEY &ITJ600T LD
Familhasmeor  Fiflwumer  allem&asLI0n
2|60

Q) BaMmm FflWIMETS SMTI600TLD &6 M TS

D) oMMl &EUMITETS! &ITTevoTD &FiflWmeoTs!

13. A body Cools from a temperature 3T to 2T
in 10 minutes The room temperature is T.
Assume that Newton's Law of cooling is
applicable, the temperature of the body at the
end of 10 minutes will be

A) LT
B) 3T
C) 5T
D) T

@@ QuUITeT 10 QBMgsefley 3T QeuliL
Blemeuul el (B1bH Sl 2T QeuLlILplemevs &
GeflFERWenL_Hmsl. sjemm QeullLplemev T
L&D, GgID QUIMTIHETTeoTSl Blwhl” L 6ofledT
Gefliey aEs6E 2L uGBmE  66ewrs
Q&mevorLmev - 10  QBMIg&efledr  (Wigeiley
QuUITnerflesr QeuliLIBlemey

B) 5T
C) 4T
D) T

14. Consider a compound Slab Consisting of two
different material having Equal thickness and
thermal conductivities K and 2K respectively.
The equivalent thermal conductivity of the
slab is

A) %K
B) V2K
C) 3K

D) %K

Qeu6eUGeum QUITIHLS6TITEV 2,607
G &HIQNET Q&MEoTL.  Fnl (h  LITETLD
Q6T  HHSICMD. UIQUTIHL_6rfleor
QeuLILIBS L& SIH M 6T 6T (WPenmBW
K wmhmin 2K erefley Sl ()  LIMeTs 5 eor
QaLILGHL S HMEOT TS

Copyright @ THE ALCHEMIST CONSULTANCY



A) %K
B) V2K
C) 3K

D) %K

15. A Spherical black body with a radius of
12 cm radiates 450 watt power at 500k. If the
radius were halved and Temperature doubled
the power radiated in watt would be.

A) 450 B) 1000

C) 1800 D) 225

12 Q&F.LS QLD Q&ML @@ CoMeT allgel
&@  QuUTEHeT 500 K Qeuliumlemsuuiev
450 watt Hmemert &HT TGHHMSI. 56T
QLT UMTHWTSeD  Qeulilbplensy @)@
DL MIGSTHED MMM Sjemlujn CUmsl
HHTeIe 1D Hmermeorgl (QUmL-(h&6rflev)

A) 450 B) 1000

C) 1800 D) 225

CHEMISTRY Q.No. 16 to 30

16. Which of the following sets of quantum
numbers is not allowed?

A)n=3,1=2,ml=0,s=+1/2
B)n=3,1=2,ml=-2,s=+1/2
COn=3,1=3,ml=-3,s=-1/2

D)n=3,1=0,ml=0,s=-1/2

GCp Q&EMHESLILLBETET  (G6UTeoorL LD
6TEOOT&H 6116V FMHHUILD @VeVTH S

An=31=2ml=0s=+1/2
B n=3,1=2,ml=-2,s=+1/2
On=3,1=3ml=-3,s=-1/2

D)n=3,1=0,ml=0,s=-1/2

17. In the sixth period, the orbital’s that are filled
are

A) 6s, 5d, 51, 6p
B) 6s, 4f, 5d, 6p
C) 6s, 6p, 6d, 6f
D) 6s, 51, 6d, 6p

6-10 auflemsuilev, o FLIL L MeL&6T BIFLDLILD
alfleng?

A) 6s, 5d, 5f, 6p
B) 6s, 4f, 5d, 6p
C) 6s, 6p, 6d, 6f

D) 6s, 51, 6d, 6p

18. The region in the electromagnetic spectrum
where the Balmer series lines appear is

A) Microwave
B) Infra red

C) Ultraviolet
D) Visible light

WerasmHs Blmwmemevuiley 6Ths LGS uilsy
Umeulnl Q&TLT eufl&e6T CHmeTmIHMmSI?

A) 51600T 26060856
B) &I1&F FleullL]
) 4 2e151T

D) &6v0Ts501 M1 6R6r]

19. Azimuthal quantum number of Valance

electrons of Ga'' is (Atomic number of
Ga=31)
A)1=0 B)l=1

C)1=2 D)1=3
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Ga*' lweoflulledr @) 606007 S\ (D 60T
6TEVLE LT IT6OT S5 61T 60T (856U T600T LD 6T6v0T LOGHLIL]
(Ga - 60T {60 6T6v0T = 31)

A l=0 B) I =1

Ol=2 D)I=3

20. The number of subshells associated with n =
4 and m = -2 quantum number is
A)4 B) 8
C)2 D) 16
GGUTEOOTL_LD  6T60OT&HGET Nn=4 LOMMID m=-2
&HE& 2_6OUTLITET  Slemeoorss  Fo (b Serfleor
6T600T 6001 | 8560185 6T6OT6OT?
A)4 B) 8

C)2 D) 16

21. The total number of orbitals associated with

the principal quantum number 5 is.
A)S B) 10
C) 20 D) 25

(LNSHETEMLN  GH6UIMTEOOTL LD  6T600T 5-6U 2 66T
QUITESS 3 TLIL L M6V & 6T 60T 6T600T600T] 86055

A) 5 B) 10

Q) 20 D) 25

22. If the principal quantum number n = 6. The
correct sequence of filling of electrons will
be

A)ns — np — (n—1)d — (n-2)f
B)ns — (n-2)f - (n—-1)d = np
C)ns — (n-1)d » (n-2) f - np

D)ns —» (n-2)f - np — (n—-1)d

(LNSEOTEMLN GH6UMTEO0TLLD 6T600T N=6 6T60TMITEV
6T6L & LT IT6OT S 60) 61T Bl L1 6U & M & MeoT
Frflwmeor euiflen s

A) ns — np — (n-1)d — (n-2)f
B) ns — (n-2)f — (n-1)d — np
C)ns — (n-1)d = (n-2) f —np

D) ns — (n-2)f — np — (n-1)d

23. The kinetic energy of an electron in the
second Bohr orbit of a hydrogen atom is
(a, 1s Bohr radius)

Ay
) 4r*ma;
hZ

2 2
167 "may

B)

h2
) 327 ma;
h2
647’ ma;

D)

QML [T78260T 2| eonleil6dT @)T6voTLTeUZ GUITIT
QILLLI LIMTen&UI6L 2 6TerT 61 6Tev8s L[ meufleor
QW& MMV (a, 6TedTLIG GLIMTHl60r 24T LD)

h2
647’ ma;

D)

24. According to Bohr’s theory, the angular
momentum of an electron in 5th orbit is

A) 25t B) 25n
T T
@) Lot D) 102
T T
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GuImy Q& meiTem &5 Ul 6T LIl 5-6ugl
QL LUUTMSUND 2 66T 6Teu8 L[ Teot| 60T
@& IT6o0T 2_[H LD

A) 25t B) 25
V3 T
@) Lot D) 10l
T T

25. Uncertainty in the position of an electron
(mass=9.1x103'kg) moving with a velocity
300ms! accurate upon 0.001% will be
(h=6.63x107* Js)

A)19.2x102m
B)5.76 x 10> m
C)1.92x 10°m

D)3.84x 102 m

300 ms!' HensFGassiHe)  @UMIEGLD
6TeL S L_ITITEDT 60T [Bl6t6VUI6LEVITE & 60TEm LTI
& 600TH B (h) &. (Blemm=9.1x 10-3'kg)
0.001%  &6LENUISSIL 60T 560015 5 () &.
(h = 6.63 x 10734 Js)

A)19.2 x 102 m

B) 5.76 x 102 m

C)1.92 x 102 m

D)3.84 x 10°m

26. Ruther ford’s experiment on scattering of
a-particles showed for the first time that the
atom has.

A) electrons
B) protons
C) nucleus

D) neutrons

emSTCUTT(® a- P& M6V C&FME et 60T U 60 (B 1H S
W WSl M gvaille) QBLLSTS
&evor MLl L gl

A) 6T6V 8 L_[JIT6OTE 6T
B) UG TL_L_IT6OT&6IT
Q) 2 L&

D) BIW,L_[FTedT8H 6iT

27. The outer electronic configuration of the
ground state chromium atom is

A) 3d* 4¢?

B) 3d’ 4s!

C) 3d° 4s°

D) 3d* 4s°
QL mmev Blemevullev &Grmudlwiid
gq@ueﬁ)eifr QaueflEanl (B 6TeL& L IJTedT
Sl6mLOLIL]

A) 3d* 482

B) 3d° 4s!

C) 3d° 4s°

D) 3d* 4s°

28. Any P — orbital can accommodate upto

A) Four electrons
B) six electrons
C) Two electrons with parallel spins

D) Two electrons with opposite spins
P- o7l Lmedlev BIFLIL Snlquigl
A) IBIT6OT& 6T6VE5L_IJ 0TS 6T

B) @L,MI 6T6VE L_IJ 0TS 6T

C) @) 6mé6v0T FLOMG U L60T @ revor(h)
6T6VL & L_[TT6OTS 6T

D) T &\ G LpMHE U] L_60T @ evor ()
6T6V & L_[T 60T 61T
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29. When alpha particles are sent through a thin
metal foil, most of them go straight through
the foil because.

A) Alpha particles are much heavier than
electrons

B) Alpha particles, are positively charged
C) Most part of the atom is empty space

D) Alpha particle move with high velocity

0- SHETHEMET GV 2 GeuMsH &&1q 60T
QPWLMTE QFNSSIDCUTS QLIHLOLITEVITET
SIGATH6T GBHITH QFLH M. O 6Tent16V

A) eTLELTmeTEHemeT el a-
&60TLDITEOTE0I6L

SI&HETHET

B) a- &&6T&H6T GBI &retLDU|6mL UG

Q) oiemialedl  GQU(BLDLITeVTET LGS

QeumMIL DTS 2 _6Temgl

D) a- SIHETH6T IH& HengsF Coud s HIL 60T
BHIRDE!

30. Which electronic level would allow the
hydrogen atom to absorb a photon but not to
emit a photon?

A)3S

B)2P

0)2S

D)18S
6ThS ENEY LOL L SHl6y
maml JRermey  CGUITLLTer 2 mlEhs &6V
DDHHH OB MG 2,60TMeV GLITLL_TedT
QaueflLI (B &6L DG &S LILILel60em6v.

A)3S

B)2P

Q2S

D)1S

| BIOLOGY (BOTANY) Q.No.31t045 |

31. Identify the wrongly matched pair
A) Warburg effect — Inhibitory effect of O,
B) Emerson — Presence of two photosystem
C) Van Neil — Photolysis of water

D) Stephen Hales — Father of plant physiology

() 60)600T60) LI &>

UMM QUTBHH W

&600T L)) &

A) eumFUps allemene] — Qus&e0lger  SHLIL
aflemereay

B) eTlDf&F e — @ Uevor(n B jemLoLiL
QFWeLLI(H &6V

C) aurmedr HeL — eperflFmy BILGLIL

D) 6NLe 16T QM 6ev6N — &6 6 & U 69 ul 69 60T
HHE0S

32. Stroma in the chloroplast of higher plants
contains

A) Chlorophyll
B) Light dependent reaction enzymes
C) Light independent reaction enzymes

D) 80s Ribosomes

o WS maUr LI &+ 51856001 | 85 & 5) 60T
6L _GrmLnmedlev s mevorLiLi(heus

A) LIFem&F LD
B) eperflemiL eflement QBTH &6t
Q) eperfl FmyLUMM 66T QB ITS & 6iT

D) 80s emFGUITGFMLDGH 6T

33. Identify incorrect pair(s)
I. Nostoc - Phycocyanin

II. Volvox - Chlorophyll a and Chlorophyll b
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[I1. Laminaria - Chlorophyll a and Chlorophyll d

I'V. Polysiphonia - Chlorophyll a and
Chlorophyll ¢

A) III only
B) IV only
C) Il and IV only
D) I and III only
SEUMITEOT () 60)600T (560 6IT)60UIG & 600TL_ M) &

l. BITENVLITE — 60118 G 85 MTE LLI6oT] 60T

Il. 6UIM6LEUITE 6NV - UFmMFWID a LmMmID
LFenaFulld b
. eomGeorrflwim - LFeFWILD a  LDMHMILD
L&Femn&ulld d
V. umedlem & Guimenflurm - LUFm&FWILD
a LoMmMmILD
LIFen&F LD ¢
A) Il L @BID
B) IV LOL_(H)Lb

O Nl moid IV L BILD

D) | nmouid 11 oL

34. Identify the correct order- movement of
pigments from top to bottom in paper
chromatography

A) Chlorophyll a — Chlorophyll
Xanthophyll — Carotenes

b —
B) Carotenes — Chlorophyll a — Chlorophyll
b — Xanthophyll

C) Carotenes — Xanthophyll — Chlorophyll a —
Chlorophyll b

D) Xanthophyll — Carotenes — Chlorophyll b
— Chlorophyll a

B UGLIUTWIeSSTET  GF M emeotuiley
B &serfler maFellev GENHS HLomeor
grilwmesr eurflem&uilemeor & 6vor LM 5s

A) LFem& WD a - UEm&FWILD b -
FrbCHMsLN6v — &HCITIY60TE 6T

B) &G IMIQ60TH6T— LIFeNF WD a— LIFeNFWILD
b-&omhHCHMsLI6L

Q) &M eiTsHeT - FMHCHMTSLIL -
UFMFWLD a - LUFMFWLD b

D) &M MeLI60 - &CIMQETHET -
LFem&FUWLD b — LFemFWILD a

35. Light, which is least effective and most
effective for Photosynthesis respectively

A) Green and Blue
B) Green and Violet
C) Red and Green

D) Green and Red

REfFCFTHMBEEH GMMEUTs  LDMHMILD
SH&HINTHLI LTI e6rl&H6T (WemnmGul

A) LUFemn& InmmiLh Hevld
B) LIF6M& LOMMILD D615 IT
Q) HlalliL LMD LUFens

D) LUFen& LoMmmID FleuliL]

36. Assertion (A): When monochromatic light
of longer wavelength (far red light) is
supplemented with shorter wavelength of
light (red light) red drop is recovered.

Reason (R): Enhancement of photosynthetic
yield due to combined effect of both shorter
and longer wavelength.

A) Both A and R true and R is the correct
explanation

B) Both A and R true and R is not a correct
explanation
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C) Ais true and R is false

D) Both A and R are false

Fahmi: (A) HeooTL. emevHerd Gl&smevorL
@ememm BIM eeflel (QFTemeVEFERQILIL)
GOIH W emevBerid Q& mevorl sperflu]Leor
FlauliL]) @emeuTHS QFNGSID  CUTSH
Feally efpsd FfloFUWLILGSHMSI.

&Myevorld:  (R) GoSw  wmmid  Hevor
SlemeuBerTd Q& meoorL. @\ Tevor(h 66l emerr

©) 60 600TSH S QFWeLLI(HSHSILCUTSI
GULLUMSSHLILIL L e lFCEFFTHmMS
gOUOH DS

A) A lnmmib R @pesor(h &l R &rfluwmeor
alem&aLD

B) A lnmmith R @revor(htnh &l R &rflwimeor
Nlem& &L 3{6V6V

Q) A &rfl R Beum
D) A LomMmiLh R @\ Jevor(hLD &6uml

37. The wave length of photosynthetically active
radiation (PAR)is

A) 400 to 700 A
B) 300 to 800 nm
C) 400 to 700 nm

D) 40 to 70 A

R6fFCFTHMEBETT Q& WIELE) M 60T
HHTIFFEHS 2 5HS emevberid

A) 400 to 700 A
B) 300 to 800 nm
C) 400 to 700 nm

D) 40 to 70 A

38. Minerals involved in the Photo-oxidation of
water

A) Mg, Fe, Mn
B) Mn, C], Ca
C) Mn, Fe, Ca

D) Mn, Mo, Ca

bl eor il 2,58 GeTMHMEHH 6V
LMG&GGLMILD &60flL0MmIS6T eTem6u?

A) Mg, Fe, Mn
B) Mn, Cl, Ca
C) Mn, Fe, Ca
D) Mn, Mo, Ca
39. Water splitting complex is associate with
A) outer membrane of chloroplast
B) inner membrane of chloroplast
C) stroma

D) Photosystem 11

B uGlueLWld &alLenolil] (Water
splitting complex) 6T&&0IL_60T QST JLI6MLUISI?

A) 15518600118 5 5 60T QeuerflFeue]
B) LI&+ 5156001155 3) 60T 2_6ITF616)]
C) 6L G

D) BlmLdl jemLoliL] i

40. Mobile carriers
transport are

of non-cyclic electron

A) Plastoquinone and P 700
B) Plastoquinone and Phycocyanin

C) Plastoquinone and Plastocyanin

D) P 680 and P 700

FLOMHFWMM 6T6LEH LTI &5 5696V H85[HLD
HLSTEGETTEH QF UM L6 6T60161?

A) LeTmenGLm@&ui Geormedr oM mILD P 700

B) LNemmernuGL & ullGeormesr LOMHmILD
6m LIGSH IT& WLl 6of 60T
Q) WemmeruGL M@ Wil Geor et LM mILD

LeTmeru@Lm& Wi 6ofleor
D) P 680 LommiLb P 700
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41. The reaction centre for PS I and PS II
respectively

A) P 700 and P 680
B) P 680 and P 700
C) P 700 and P 800
D) P 700 and P 600

PS | wmmib PS ll-efleT ellemedr emLOWILD
wWwenrmGW

A) P 700 LoMmmiLh P 680
B) P 680 LoMmuLh P 700
C) P 700 oM miLd P 800
D) P 700 Lommuth P 600
42. Chemiosmotic theory was proposed by
A) Van Neil
B) Engelmann
C) P. Mitchell
D) Arnold

Geud) Felay,(H\LITel6Y
2 _(HeUMSSHWIeUT

@& TL_LIITLY 60607

A) eurmedt [Hev

B) 6TMI£36L G LD 60T
O P UWLG&6

D) Sifermev(h)

43. Plastoquinone is
A) An electron carrier
B) A proton carrier
C) A hydrogen carrier

D) Primary proton acceptor

LN eTmervGLm@& U GeoTmedT 6p(H
A) 6TELE LT ITET HL&H)
B) LIGTTLLIT6dT &L 5H)
Q) QL TR60T &GS

D) (n&6Temin LG mLLimeor MLl

44. Which one is essential for both respiration
and photosynthesis?

A) Rubisco

B) Cytochrome
C) Plastocyanin
D) Ubiquinone

QeflFCaT&Hms LM mILD FUTHHH60
@\ J600T I MG LD C&H 606U UITEOTSI 6TSI?

A) (L6 @8 T
B) 600&FL_GLM&SGITLD
C) YermenuGLT& Wi6vfleor
D) L& ul Geor medr
45. Match the following

a) Primary electron

acceptor of PSII 1. Reaction centre of PS I

b) Plastocyanin II. Fe-S protein

c) P 680 III. Reaction centre of PS II

d) Ferredoxin IV. Quinone

e) P 700 V. Mobile electron carrier

e
A IV vV 11 1 I
B) IV 1I I ur v
¢ v 11 m v I
D) 1 1v I I v
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QUTHSSH&H

a) PS Il (p&H60TemLN
6TeL& L meot eFMLY
allemeoTemILOUILD

[. PSI

b) LNermenv@Lmgwentledr |l. Fe-S L GT ML IC60T

c) P 680 1. PS Il ellemeoTemLOWILD
d) QUILm&erdedr V. & U Geormedr
e) P 700 V. I5& ([HLD 6TEL & LT IT60T
HLES
a b C d e
A IV V [l [l I
B) IV [l I [ Vv
O Vv [ [l v I
D) 1l v I Il \%

BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. Which of the following causes and increase in
sodium reabsorption in the distal convoluted
tubule?

A) Increase in aldosterone levels
B) Increase in antidiuretic hormone levels
C) Decrease in aldosterone levels

D) Decrease in antidiuretic hormone levels

LY edTeu (Heu6oTEUMMIET 678 C&UIEMLD & (TH600T L
Gwmuile GComgqwid WeT 2 nlEhss5emen
2AH &N &Hma?

A) 9LLBLTENVIR G ITEIT 36176 25 & 1f 556V

B) 60T 6mL_Whifl1985 @mITIGLOMeT 2|6Te)]
25 &G se60

C) &L,6LBLITENVIC BT 6T |66 (60 M6V

D) @b6oTigemL_Wifligd ammyGLOMTeT 2| 6Te)]
(Glglul:1ay
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47. Match the items given in Column [ with those
in Column II and select the correct option

given below:
Column I Column 11

1. Accumulation of wuric
acid in joints

a) Glycosuria

b) Gout ii. Mass of crystallised salts
within the kidney

c¢) Renal calculi iii. Inflammation in
glomeruli

d) Glomerular nephritis  iv. Presence of

glucose in urine

a b c d
A) il ii iv i
B) i ii i v
C) i iii i iv
D) iv i ii iii

alfleng -l eowl, auflens - Il 2_L 6T QUITHS S
griflwmenr lpLILIGMS CHT6] Q&FUILe]|LD.
alflens -| aflens - I

) epl(h&erflev w,iflss
Iblevld LIlgeugI

a) B e 6B @ il

b) Q&eTL i) A B IssS mH & 6T
&Imeoor LILI(H)LD
LIg & 2 LiL|gerfleor
Q&HMTGLIL
c) If6uT6L SIT6V(EH6V6N
FBrs sMHeser) iii) S emmLnHeverdley
gOUGLD
PO
d) @ermmEeurT
QB &LI6M T 6N iv) Aloibiflev o5&
&EBE&C8TeN
a b C d
A) i i iv i
B) i ii iii iv
(@) ii iii i iv
D) iv i i iii
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48. Human urine is usually acidic because
A) Excreted plasma proteins are acidic

B) Potassium and sodium exchange generates
acidity
C) Hydrogen ions are actively secreted into

the filtrate

D) The sodium transporter exchanges one
hydrogen ion for each sodium ion, in
peritubular capillaries

LDeofl & F by QUMSI6UTS
| 1016V 5 & 60TEM LD UL 60 L_ULI &, 67 Q) 60T60T 16V
A) QeueflGwmmUiLI D LNermeruLnm
L| [T 55 I 85617 3|86V 5 & 60T60ILD
@ &5 T600T L_6m6U
B) QUITLLTHIWLD  moin - GF MWD
UfllmmmLD 3186V & & 60T60) LD G LI
2 (HAUMHSGHMSI

C) QL [FR60T | WLI6T1S6T QUL B TeusH 60
S LOms 5788 L1 [H ) 6drm 6ot

D) LJm 51 600T(& 06V & 6rfl6v G&FMIQUILD
HLEHHET  @6IQeUTIH  GFMIQUILD
3| Werfl& @D (H QML [T60T 3 ULI6vf]
Ufllmmmd Q& W U® &lesTmeor.

49. Which of the following diseases is
characterized by inflammation of the
glomeruli of both kidneys and is usually due
to a post-streptococcal infection that occurs
in children?

A) Bright’s disease
B) Grave’s disease
C) Addison’s disease

D) Gull’s disease

QUMSIUTS GLHM S SH6r60
LQTLUGCLIHTHEEN SHTEHESHESH 6T  Lileor
aflemereunds @uevor( P ouBrssmigerleor
GGermmaluler affiGsHey HLLHTEDIN
6TH& CHITUI6dT LI6voTLIMELD?
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A) YemrL1q.60T GBITU
B) &Gralledr GBITUl
Q) 91195 6vfl6dT GHITUI

D) &6060160T GBITU

50. Which of the following would help in
prevention of diuresis?

A) More water reabsorption due to under
secretion of ADH

B) Reabsorption of Na" and water from renal
tubules due to aldosterone

C) Atrial natriuretic factor causes

vasoconstriction

D) Decrease in secretion of renin by JG cells

L9l edTeu (1 6w oTer M 1l 6L 615 A ouBFL
QLIHEem S (Diuresis) HH&SH 2 5B MSI?

A) Gemmedmest ADH &LUmey H& B
Sem 2_mMlEh&FLIL(H &6V

B) 21,60 GL_MeruLq G medT eflemermeumeL E\ B rss
BleooTGLpev&erlev Nat ommih By e
2 MlEehFLILBH SV

OagLlfluey  CrLflwifliigds  smyeoofl
Q555G 0606 & (H & &G 60 S
JgOLIHSSISH6V

D) 2&661VELT  H6eMTBVTT QF6V&H6T

ELN6VLD QT 60T160T &+ 7855606V (&60) M &S 6V

51. Assertion (A): Antidiuretic hormone (ADH)
facilitates the reabsorption of water by
increasing the number of aquaporins on
the cell surface membrane of the distal
convoluted tubule and collecting duct

Reason (R) : This increase in aquaporins
causes the movement of water from the lumen
into the interstitial cells, thereby preventing
excess loss of water by diuresis.
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A) Both A and R are true and R is the correct
explanation of A

B) Both A and R are true but R is not the
correct explanation of A

C) A is true but R is false

D) Both A and R are false

Fo DO erigemLw,ifligs ey GLomesr
(ADH) G&sIfllL mmerd Wmmih GFulemin
G (H6T HleooT &GPV &H6Tl60T QFeLLITLIL&erflev,

316G eum@uITifleorsserflesr 6T600T6001 1 8560 55
2185153, By Lfere_nlEh & 6
BHEOLGQLMSMSI.

&ITJ600T LD 316G eumGuITIfleorsserflesr

6TeooT6o0l  6m8  AFGHIILSTL  GLoedleor
2 LUGHWIO®BHS, @enLuf”_
QFLSHEHEGET BT QFHOTMSI. ©)560TTeV
F B I LG LI[HE 5 6T (Diuresis) eLNGULD
gHubLd S8 & Bl sH&E&ULGS DS

A) Famm WMHMID &SMFeoord &Fifl, Goewin
&HMTJ6eoor D Fo M6t Fifluimet allemsas L0

B) SmMMI LOMMILD SHITFEOOTIOLD &Fifl 260TT6V
S&ITI6uoTLD FaMMIM & &Fiflwimenr ellemgssLn
Q) 6Lem6L

Q) SaMm! &Fifl QLEOTITEL &ITFE0OTLD &6Um!

D) MMl DMHMIID S&TJeoord @) Feoor(hGLo
SHelm!

52. Angiotensinogen is a protein produced and
secreted by

A) Juxtaglomerular (JG) cells
B) Macula densa cells
C) Endothelial cells of blood vessels

D) Liver cells

24603l GWIT Q60T &) G 60T T2 60T
LIS5608 2 HUSH Q&I &ILLIS

6TeDILN

A) 828 6VCLIT HETTIOIHVTT QF 605 6T

B) GLD&HGVIT QLGOTFT QF6VSHET

Q) @QUss GLmulserfler ereoorGL TS S 60
Q&F6L&HET

D) &6V65J6V QIF6VE6T
53. Normal urea level in human blood is about
A) 80 — 120 mg/100mL
B) 33 — 68 mg/100mL
C) 0.5—-11.5 mg/100mL

D) 17 — 30 mg/100mL

@) WwievLImeoT Blemeuuilev LD 607155 60T 60T
QU5555H 60 Wilwmeller 9jeme| &0y

A) 80 - 12041651/ 100 L6
B) 33 - 68 &)/ 100 Ldlel
C) 0.5 - 11.5 818/ 100 LWl6S
D) 17 - 30 &)/ 100 L6l

54. Which of'the following statement is incorrect?

A) Angiotensin converting enzyme (ACE)
converts angiotensin I to angiotensin II.

B) Angiotensin II acts at different sites such
as heart, kidney, brain, adrenal cortex and
blood vessels.

C) AtrialNatriureticPeptideorfactor(ANF)acts
antagonistically to the renin- angiotensin
system, aldosterone and vasopressin.

D) Atrial Natriuretic Peptide or factor (ANF)
stimulates adrenal cortex to secrete
aldosterone.

G L85 600T LU MMI6L &eUMITET SnMmI 6TS5I?

A) &b,6HF) CUIITE 60T 6T —I-89
AEGHFCUTQLETH -1l QL8  WTmHm
AEGHFACWTOLOTHT MMM QBT
(ACE) LweTLI(h S mSI.

B) @& WD, FmiBrsLd, ELOEmETT,
3| L_feorev ST L& 6 LDMHmILD
@QU&s BHTeMmIGeT GUmeTm LievEGeuml
QLML EhFCUWTQLTHR 6T -l
QEWeVTHMIRMSI.
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Q) gLifluwiey 157y | [VERy  [MTCR:3
QuUemL(® evevg  S&mgeoot]  (ANF)
Qyeoufleor- 34,65 T G TG 60T &) 60T

L6VGLMENVICGIITEOT LO60OTL6VLD LDMMILD
- aumGasmLIFevedleT & UeIMMISES
TRIMOTHTH QFWeLIOQSHMS,

D) gLliflwey GrLAlw,flligs QuLien(bh
3l6vevgl &myeootl (ANF) &meoor(h & 6VITeV
Lot HTFLALGeN6L @ BHS
SLVGLITEVICBTTET &FIEHHRMSI.

55. A decrease in blood pressure/ volume will
not cause the release of

A) Atrial Natriuretic Factor
B) Aldosterone

C) Antidiuretic hormone
D) Renin

GMDHS QIES WSS / 36T6] @)&eor
QeuerflufL 19 M@ & miyevorLil6Lem6v

A) gLlflwev GrLiflw, 198 &myevof]
B) @1,60GLMmeruLe Gy et

Q) eoTIq6mL W, if119.8 emTFGLOTeoT
D) Qyeotledr

56. What are the primary sites of action for
aldosterone in the kidneys?

A) Proximal tubule and Loop of Henle
B) Distal tubule and Collecting duct
C) Loop of Henle and Distal tubule
D) Glomerulus and Proximal tubule

A miBrsmsserfley 260G LTerv1q. By meofleor
Q&FWEVLITL_LY 60T (LDSH60TE0ILD &HETRIGHET 6TSI?

A) Q1600T6OID  &F(H6IT  HIEOOTGLO6L LOMMILD
Qam TGV UI 6T 6ENETEY

B) GFUI6MID &F(H6T [HI6UOT (GHLP6V LDMHMILD
GF sl BT

Q) QameiTGeuuiledr auemeTe] LDMMID G&F U6
& (H6IT HI600T (&LP6V

D) G6TTIDHEVEN DMHMID 3{600T6MLD S (H6IT
516007 (& L6V

57. The renin-angiotensin-aldosterone system
(RAAS) is activated in response to:

A) Low blood pressure
B) High blood pressure
C) Elevated blood glucose

D) Decreased heart rate
@ J60f 60T -4, 65 F) G U TG 60T &) 60T -~
3L,6LGL eI G TeoT 60l (RAAS)
Q5MH&EEG uSalamer LFluD (Hl6ukige)
alemnsWlev QFwWeLRSSLILURSH MmS!

A) GODHS QTSS AHWSSD

B) 2 W[ QUSHS AWSSLD

O 2o wj QUss &EhsEsHM6

D) @5 W& &G UL GenmSHeV

58. What role does the macula densa play in
renal regulation?

A) Blood pressure sensing

B) Regulation of glomerular filtration rate
(GFR)

C) Acid-base balance

D) Electrolyte reabsorption

Fobresamns RURGUOSSIUH 6
LDMTEE6VIT QL 6oTerumel6oT LIMkIE, 6T60T60T?

A) QTSP H(WESHSH60)S 26007156V

B) GeTm@evTy  elg&L (B 6f5 8 5 6ot
(GFR) &L aum@)

Q) IeV-&MIS SetTemnloudledr &FLnblemev

D) WleTLIE QUL &6 (Electrolytes) LSeT
2 MEhFLILH &6
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59. Which hormone deficiency is associated with
diabetes insipidus, a disorder characterized
by excessive thirst and urination?

A) Insulin
B) Aldosterone
C) Antidiuretic hormone

D) Parathyroid hormone

SHs& ML LOMIL AHS Souby

QeuerGUIM MBI & &5 ITJ600T LO T60T
60 LU ITLILg.60) @ 6TF LI L6 6THS
QMM GLOTeoT &ML (h 60T
QEBTLIL 6L WSHI?

A) @) 601860l 6T
B) @160 GLMervIe @I meoT
Q) ,60TIQ6ML_ULT & QT GLOT60T

D) UMFmen &SIl emTFELOmesT
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60. Which of the following is a primary symptom
of a urinary tract infection (UTI)?

A) High glucose in the urine
B) High ketone products in the urine
C) Blood in the urine

D) Excretion of protein in the urine

Nereu@peuemaummlcy S oubiy LTen& S
QMMM (UTI) (pS6TemLn SIS0 61&1?

A) P miBiflev 9T & EH&HCH M6V
B) Al muBiflev oH & S GL 6T QLITIHL.GH6T
O Babileb GUssLd Geuerl G g6

D) flmuBiflev LiT&Lh QeueflGumigev
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